Limiting Reactant Practice Problems

Sunday, March 3, 2019 8:32 AM

1. 2 Na(s) + Cly(g) = 2 NaCl(s)

a) 6.0 mol of Na and 4.0 mol of Cl; are mixed. How manymoles of NaClin moles can be made
R ] i

from this mixture?
b) What is the limiting reactant?

¢) Whatis the excess reactant?
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2. CiHa(g) + 3 0i(g) > 2COy g] + 2 H20(g)
a) 2.7 mol of C;H,4 ted with 6.3 mol of O3, how many moles of water will be made?
* ﬁ
b) What is the limiting re H -

c) Whatis the 0O |
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3. 2Cu(s) + S(s) © Cu stqulQF',s qSI’ft15
}If8000§m of copper s reacted with 25.00 grams of sulfur, how man gm of product ]3 CU;.S
n be produced?
b) What is the limiting re
¢) What is the excess reactant?
d) How many grams of the excess reactant are left over at the end of the reaction?
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b) Le = Cu
©) kxcess = S




